A £ 0l & AF & S

Al A

20238 =0ila eI OEIOtE
AT HEIED
B @2 U JET
el HE =R EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
G&ItEL 73,818,848 66,564,313 7,254,535
= 35,412,878
Jl 4,467,195
AltI 28,022,092
-l 5,916,683
25 2 JIEXE 73,770,514 66,506,227 7,264,287
= 35,409,878
) 4,467,195
AlH] 28,022,092
Tl 5,871,349
He=Xl 193,235 300,056 106,821
Jl 67,518
Al 100,537
Tl 25,180
=3 Ot8=9 484 29 135,036 135,036 0
Il 67,518
AltI 67,518
307 elztol & 135,036 135,036 0
Jl 67,518
Al 67,518
11 AMEISXAIEEXS 135,036 135,036 0
OAfet HE=8454 28 A2
135,036,000 135,036
Il 67,518
AlHI 67,518
Ao DI Z2 A g A SALR SXI==E(AlH]) 33,019 18,800 14,219
AlH] 33,019
307 @120l & 33,019 18,800 14,219
AlHI 33,019
11 AMEISXAIEEE 33,019 18,800 14,219
OAlet JIEZS8E A SAL SX=E
33,019,000& 33,019
AltI 33,019
GESEINIR=FS| 8,890 6.976 1,914
201 Ler23| 5,345 2,99 2,346
01 At2teltl 5,345 2,99 2,346
OWEEH A =2 & &I &
66,0002 *9IH*90f% 535
OENMEAANY B2 HH
300, 0002 32| *90f% 810
Odelligdsd g IEsAlAY 29
250,000& x 162 4,000
203 HR=H| 1,397 1,397
03 A= PR FAI| 1,397 1,397




AT HEIED
B @2 U JET
el HE =R EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ou4 a3 Ael 29
10,0002 *40Z +90% 360
O AN A ZHed & X2
1,152,000 *90% 1,037
301 22N = 2,148 2,580 A432
10 ARSRES 1,848 1,848 0
O=NER A=23 SAHI
, 0003 x1H*22 « 12 1,848
11 dAMEEIXIE S 300 732 N432
OArgel BXIMAE & HAIE
100,000 3% 300
HYZISIEAl =4 5,790 5,790 0
201 fer= 3| 2,340 2,340
01 At 2|l 2,340 2,340
OW-gRSIEAl AIMHLD WS & 82
2,340,000 2,340
203 HR=&H] 450 450
03 A=A RN 450 450
ONHZEEZAl FRFX
500,000 *90% 450
301 EtE NS 3,000 3,000
11 #AIAMHIXIZ S 3,000 3,000
OWdRIstz Al =M 25
3,000,000& 3,000
HYCH 82 25 X2 10,500 10,500
307 212+01& 10,500 10,500
02 B A HE L 10,500 10,500
Ou4td s s2&s Aa
10,500,000& 10,500
HE=K 13,128,946 11,083,654 2,045,292
= 3,842,944
Jl 4,399,677
AlHI 3,434,844
-l 1,451,481
JIEHH 29 683,880 537,800 146,080
Jl 341,940
AltI 170,970
-l 170,970
307 gl2to| & 683,880 537,800 146,080
Jl 341,940
AlHI 170,970
Tl 170,970
05 2I2tRIE S 683,880 537,800 146,080
OJI54dH 28 X2 683,880,000& 683,880




AT HEIED
M 25 9 N
ghel: JIE=EX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 341,940
AltI 170,970
-l 170,970
JIEEHE SAEL SXZE K& 4,600 4,600 0
Al 4,600
307 gl2to| & 4,600 4,600 0
AltI 4,600
05 2ItRIE = 4,600 4,600 0
OISHEN BAR SXEAE KR
4,600,000& 4,600
AltI 4,600
FHARADIIIIEKIE 168,750 165,620 3,130
= 84,375
Altl 84,375
307 elztol & 168,750 165,620 3,130
= 84,375
Alt] 84,375
05 212t =S 168,750 165,620 3,130
OJt=Eggdet N 168,750,000 168,750
= 84,375
AlHI 84,375
SSE0tU=H 24 331,164 329,076 2,088
Jl 165,582
AltI 115,907
-l 49,675
307 21201 & 331,164 329,076 2,088
Jl 165,582
AltI 115,807
-l 49,675
05 212t =S 331,164 329,076 2,088
Ozss0tUsH XN 331,164,000 331,164
Il 165,582
AlHI 115,807
Tl 49,675
orolEs A& 2,464,345 2,277,689 186,656
= 1,725,041
AlHI 369,652
Tl 369,652
308 AXIHSOIA 2,464,345 2,277,689 186,656
= 1,725,041
Al 369,652
Tl 369,652
11 SIS0t oA A A 2,464,345 2,277,689 186,656




A HAIED
B @g o JEN
el JIESX (Gt H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OorolEa K& 2,464,345,000& 2,464,345
= 1,725,041
Al 369,652
4| 369,652
ChH23tE E43H AbHI 461,360 469,421 8,061
| 230,679
Al 230,681
307 212+01™ 461,360 469,421 8,061
J| 230,679
AlHI 230,681
05 QIZtRIErZ 461,360 469,421 A8,061
OU2etE YRusAMHIA
257,810,000 257,810
| 128,905
Alt| 128,905
O3S AtdlZel X
37,018,000 37,018
| 18,509
Al 18,509
OLI2SIE 01F0II=eY X4
35,031,000& 35,031
| 17,515
AltI 17,516
OUEstE A4 Aoee &
78,688,000& 78,683
| 39,344
Al 39,344
OZE0I2X SHAMHIA X
32,813,000& 32,813
| 16,406
AlHI 16,407
OREO0IRN AE X2
20,000,000 20,000
| 10,000
AlHI 10,000
Ct23tE W=EXIJ 6,000 6,000 0
307 gI2tol ™ 6,000 6,000
05 QIZtRIEr S 6,000 6,000
Ot2&td ZE A XA
6,000,000& 6,000
Ct23t olall s& 16,000 15,000 1,000
307 212+01 A 16,000 15,000 1,000
02 QIRHEAAIH B X 6,000 0 6,000
ottzahts s=2FME (HEeUs S)
6,000,000& 6,000




AT HEIED
B @g o JEN
el JIESK EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 10,000 15,000 /5,000
OOtsLHEst A ItA S
10,000,000 10,000
FAERLD ots&=H N2 38,400 0 38,400
= 19,200
AlHI 19,200
301 LEtE NS 38,400 0 38,400
= 19,200
AltI 19,200
01 AR 2EHSHS(RNEXRTH) 38,400 0 38,400
OFAERR Ots&=Hl K&
38,400,000 38,400
= 19,200
Altl 19,200
Rotg olEd 2,572,000 2,680,000 /108,000
= 1,897,328
AlH] 337,336
T4l 337,336
308 AXIMSOIA 2,572,000 2,680,000 108,000
= 1,897,328
Al 337,336
Tl 337,336
11 SIS0 EAS A 2,572,000 2,680,000 /108,000
oxgtd ol 2,572,000,000& 2,572,000
= 1,897,328
Altl 337,336
Tl 337,336
EM0I= EMXIES 535,000 535,000 0
AlH] 535,000
301 Eet2 NS 535,000 535,000 0
Altl 535,000
03 A2 E A0 Z2 (XL THH) 535,000 535,000 0
O=Mol= E4XES 535,000,000& 535,000
AltI 535,000
ETINIEES] 500,000 150,000 350,000
301 LEtE N = 500,000 150,000 350,000
03 AR 2EH 5SS (XILMHE) 500,000 150,000 350,000
O= s&tKIE= 500,000,000& 500,000
SHREIIEIS &=Hl S X2 4,447,000 3,030,652 1,416,348
) 3,557,600
AlH] 889,400
301 Eet2 NS 4,447,000 3,030,652 1,416,348
Il 3,557,600




S OIEIIED
Hu: 2% o JIEN

= = =
ghel: JIE=EX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 889,400
01 Al EE A S (2 RDEEMA) 4,447,000 3,030,652 1,416,348
O8R2I1E I ¢=Hl S X
4,447,000,000& 4,447,000
Jl 3,557,600
AltI 889,400
HAE BRE Ots2=H| XA 28,425 36,100 26,675
Il 22,740
Altl 5,685
301 EtE N = 28,425 35,100 26,675
Il 22,740
Al 5,685
01 Al EE A S (2 RDEXA) 28,425 35,100 AB,675
O34 822 g X3
28,425,000 28,425
Il 22,740
AlHI 5,685
SRS M4 X 198,290 217,054 18,764
AlH] 198,290
301 EetE NS 198,290 217,054 A18,764
Altl 198,290
02 A2 X LGS (FHAAHS, XNLWE) 198,290 217,054 A18,764
O NS, =S stE3H|
198,290,000 198,290
AltI 198,290
SIS =HIA 1,700 1,100 600
AlHI 1,700
301 2= 1,700 1,100 600
Al 1,700
02 A2 XSG (FHAAHS, NSWE) 1,700 1,100 600
OFXE =HIAA 1,700,000 1,700
AlHI 1,700
MASH(2RESAIE) 130,000 141,000 A11,000
= 117,000
Alt] 13,000
301 EtE NS 130,000 141,000 A11,000
= 117,000
AlHI 13,000
01 Al EE AL S(FREXM) 130,000 141,000 211,000
OZTIESAIE WA=
130,000,000 130,000
= 117,000
AltI 13,000

SUEBSAE 29 383,303 380,419 2,884




A HAIED
B 28 o JIEK
e JIE=X (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 383,303
307 212+01™ 383,303 380,419 2,884
Altl 383,303
10 AISIS XA EEE2IHIE X 383,303 380,419 2,884
ORXESAE 29| 382,803,000& 382,803
Altl 382,803
OXNESAIE SAN =SXNEE K=
500,000& 500
Altl 500
PUESAIE AKX HEdEEZ X3 35,000 40,000 5,000
Al 35,000
301 LPENF 35,000 40,000 A5,000
Altl 35,000
02 MBI EEAGS(HUAS, XLTHEA) 35,000 40,000 A5,000
OR2XNESAIE EIAX AEEEZ X3
35,000,000 35,000
Altl 35,000
SIER2IIE Al AKX AEXIE X3 28,500 17,782 10,718
| 14,250
Albl 14,250
307 212+01™ 28,500 17,782 10,718
J| 14,250
AlbI 14,250
11 AL =SXAMEES 28,500 17,782 10,718
AL AEXz K& 28,500,000& 28,500
| 14,250
Altl 14,250
SIRRIIE SXAE HEZ203 X2 2,900 2,500 400
Al 2,900
307 212+01™ 2,900 2,500 400
Altl 2,900
11 AR SXAMEES 2,900 2,500 400
OstRR2IIE SXAE AHEx=208 X2
2,900,000& 2,900
Altl 2,900
SAUESAIE O0|ISSAMBIA K& 78,651 39,341 39,310
| 55,056
Albl 23,59%
307 212+01™ 78,651 39,341 39,310
J| 55,056
Al 23,59
10 Al S XA EEHE2FHIE X 78,651 39,341 39,310
OEBXNESAIE Ot0l=sMEIA XIR
78,651,000& 78,651




AT HEIED
B @g o JEN
ghel: JIE=EX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 55,056
AltI 23,595
SIRZAIE AlRISRR23 © s XN& 11,830 6.652 5,178
Jl 11,830
301 2eEN= 11,830 6,652 5,178
7l 11,830
10 M=SRREES 11,830 6,652 5,178
OetRZAIE Ml=223 212 S XI& 11,830
kal:] 800,000& x1& 128 9,600
7l 9,600
/=l 310,000& *1 310
Il 310
wSH| 3,000& x1& 240 720
Jl 720
22 u=H| 600,000 x12H+23] 1,200
Jl 1,200
SIRZAIE AIRISRRF S 1,848 1,848
301 EtE NS 1,848 1,848
10 AIBI=ZLRATAS 1,848 1,848
OBRRAIE ABI=2e® S4H| XIS
7,000 x1H+222x 122 1,848
g - R0t S &4 60,448,333 55,122,517 5,325,816
= 31,566,934
AlH] 24,486,711
Tl 4,394,688
IRoIE=sE K& 21,449,933 21,449,933 0
= 16,087,450
Al 3,753,738
Tl 1,608,745
307 elztol & 21,449,933 21,449,933 0
= 16,087,450
AlHI 3,753,738
Tl 1,608,745
05 2IR”tRIE = 21,449,933 21,449,933 0
ogRotEsz & 21,449,933,000& 21,449,933
= 16,087,450
AltI 3,753,738
-l 1,608,745
el 252 XE 11,260,434 11,260,434 0
Al 11,260,434
307 gl2to| & 11,260,434 11,260,434 0
AltI 11,260,434
05 21t =2 11,260,434 11,260,434 0




2A:
X XH -
o e

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEFEECERE
11,260,434,000& 11,260,434
AlHI 11,260,434
UG AR (0201E 010180+S) 1,164,227 3,934,667 A2,770,440
= 873,170
AltI 203,740
Tl 87,317
301 22N 1,164,227 3,934,667 A2,770,440
= 873,170
AltI 203,740
-l 87,317
01 Al EE A S(FRDEEMA) 1,164,227 3,934,667 A2,770,440
Orggs=¢ 1,164,227,000& 1,164,227
= 873,170
AlHI 203,740
Tl 87,317
2250 (Hotg) X& 10,834,159 2,814,370 8,019,789
= 8,125,619
AlHI 1,895,978
Tl 812,562
301 EtE N = 10,834,159 2,814,370 8,019,789
= 8,125,619
Alt] 1,895,978
Tl 812,562
01 A2 HSFS(RNEERTHE) 10,834,159 2,814,370 8,019,789
OR220(Z0ot+) X
10,834, 159,000& 10,834,159
= 8,125,619
Alt] 1,895,978
Tl 812,562
AHESAEIA HE XA 84,000 84,000 0
= 42,000
Alt] 21,000
Tl 21,000
308 XXM SO0l 84,000 84,000 0
= 42,000
Albl 21,000
Tl 21,000
11 S [2S0 e YA AS A 84,000 84,000 0
OAIZIHMIES A A MS XI&
84,000,000 84,000
= 42,000
Altl 21,000
Tl 21,000




AT HEIED
B @g o JEN
el & =0 4018 x4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oglold 2L (LM w7h) 79,950 79,950 0
= 47,970
Albl 22,386
Tl 9,594
307 212+01& 79,950 79,950 0
= 47,970
AltI 22,386
-l 9,594
10 Al SXA2EE 22X 79,950 79,950 0
O0gold M-l XI&
79,950,000 79,950
= 47,970
AltI 22,386
-l 9,594
HElold 2SR (X2) 4,800 4,800 0
= 2,880
AlHI 1,344
-l 576
307 @120l & 4,800 4,800 0
= 2,880
AlHI 1,344
Tl 576
10 Al SAAEEHE 22X 4,800 4,800 0
OZ S ROt0l01E &= X
4,800,000& 4,800
= 2,880
AlHI 1,344
Tl 576
ZRXN20el01E &2l N2 21,000 21,000 0
AlHI 21,000
307 glztol & 21,000 21,000 0
AlHI 21,000
10 Al2ISTIAEEE2HIEX 21,000 21,000 0
OE=FXNHN0IE N2 N
21,000,000 21,000
Alt] 21,000
JL0IAE0e0lE Xg2aEdl N 72,000 72,000 0
307 @I2t01 & 72,000 72,000
10 Al2ISTIAEEE2HIEX 72,000 72,000
OZR0INE0Y &2 X
72,000,000 72,000
Oelold edsts & =ateiAtHl XIE 74,630 74,630 0
AlHI 74,630
307 212+01& 74,630 74,630 0




2A:
X XH -
o e

=aak

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 74,630
11 AL =SXAMEES 74,630 74,630 0
ONeglolY sdss Y 23taAtdl XI&
74,630,000 74,630
Al 74,630
OrZto2I0IEY Z2lAZ MHlA XIJ 800 800 0
AltI 800
307 212+01 A 800 800 0
AltI 800
11 AMSISXAEEX 800 800 0
OO0t el0ld ZelAZ2 MulA X
800,000 800
Al 800
SSEUE0IE XIA(HMEAIY) 764,075 764,075 0
Al 672,386
=4l 91,689
307 QIZ2t01 A 764,075 764,075 0
Al 672,386
-4l 91,689
10 AlSISXAIEHE2ZHIEX 764,075 764,075 0
O3380&0l& XA 764,075,000& 764,075
Alt] 672,386
sl 91,689
SSg0eE0ld X2ld oAl K& 61,200 61,200 0
AltI 61,200
307 212+01 A 61,200 61,200 0
Alt] 61,200
10 AIEISXAIEHE2ZHIEX 61,200 61,200 0
O=380elold X2l ol2H| X
61,200,000& 61,200
Al 61,200
SFAA lAd] K& 7,215,129 7,215,129 0
= 4,329,077
AlHI 2,020,235
sl 865,817
307 QI2Hol ™ 7,215,129 7,215,129 0
= 4,329,077
AltI 2,020,235
sl 865,817
10 Al SXAIEHE2ZHIEX 7,215,129 7,215,129 0
ONel0IE SAHAF 214d] XI&
7,215,129,000& 7,215,129
= 4,329,077
Al 2,020,235




AT HEIED
B @g o JEN
el & =0 4018 x4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| | 865,817
SN HRML K (SEWARIZH) 1,271,2% 1,271,2% 0
= 762,778
AltI 365,963
-l 162,555
307 gl2to| & 1,271,29% 1,271,296 0
= 762,778
AlHI 365,963
Tl 152,555
10 Al SXAAEEHE 22X 1,271,2% 1,271,2% 0
ONE0IE SEXWAL 1248 X
1,271,296,000& 1,271,296
= 762,778
AlH] 365,963
T4l 152,555
S HRHME X (2RSBHEHI) 2,154,900 2,154,900 0
= 1,292,940
AlH] 603,372
Tl 258,588
307 elztol & 2,154,900 2,154,900 0
= 1,292,940
Al 603,372
Tl 258,588
10 AlRISTIAIEEE 22X 2,154,900 2,154,900 0
OO0lel0ld 2EF WA 2R3l X2
2,154,900,000& 2,154,900
= 1,292,940
Altl 603,372
Tl 258,588
FRXNE00E EFUAL SX==E K& 24,840 24,840 0
AlHI 24,840
307 21201 & 24,840 24,840 0
Altl 24,840
10 Al SXAAEEHE 22X 24,840 24,840 0
OZRNANE0IE ESUAM EX+E X
24,840,000 24,840
AlHI 24,840
20X EFSWA =X X& 1,301,400 1,301,400 0
AltI 1,301,400
307 212+01& 1,301,400 1,301,400 0
Alt] 1,301,400
10 AlISXAZEE 22X 1,301,400 1,301,400 0
OZR0IXNE00E 2EFWAL SX+=& Xl
el 1,301,400,000& 1,301,400




AT HEIED
B @g o JEN
el & =0 4018 x4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 1,301,400
SR0INE0E0lE EFuA 25+ A2 73,000 73,000 0
Albl 73,000
301 EtE N = 73,000 73,000 0
AltI 73,000
01 AR 2EHSHS(RDNEXRTHE) 73,000 73,000 0
OZR0IXE00IE EFUAL FII25=
g X& 73,000,000 73,000
AlHI 73,000
201Xy x2ld Il K& 134,662 134,662 0
Alt] 134,662
307 @120l & 134,662 134,662 0
AltI 134,662
10 Al SXAIEEHE2EHI 22X 134,662 134,662 0
OE=R0IN20e0ld xeld l2d] K&
134,662,000 134,662
AltI 134,662
ZOHEFOLOEI0IE EFnA S22+ & 18,000 18,000 0
AlHI 18,000
307 21201 & 18,000 18,000 0
Altl 18,000
10 Al SXAAEEHE 22X 18,000 18,000 0
OZ S ROIOEI0IE EFUAL S22
g X 18,000,000 18,000
AlHI 18,000
ZOHEFOLOIEI0IE XIZSAH 2228l K& 3,600 3,600 0
AltI 3,600
301 2eEN= 3,600 3,600 0
Alt] 3,600
01 Al EE A S (FRNEXA) 3,600 3,600 0
OHMHEROIOSI0IE XIZSAH 22FHA
Bl X 3,600,000& 3,600
Altl 3,600
ZOHOIM Z01&I01E RFEDIIANRI 28] X2 4,800 4,800 0
AlHI 2,400
-l 2,400
307 21201 & 4,800 4,800 0
Altl 2,400
Tl 2,400
10 AlRIS XA EEE 22X 4,800 4,800 0
OZ OOt 2012018 XHEDIIAF el24H] I
4,800,000 4,800
AlHI 2,400
Tl 2,400




AT HEIED
M 25 9 A
el & =0 4018 x4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SFI2LIEHEHE 29 6,100 6,100 0
= 3,050
Albl 1,525
- 1,525
301 2eEN= 6,100 6,100 0
= 3,050
AltI 1,525
-l 1,525
11 #AIAHIXIE S 6,100 6,100 0
ORZ2Z2LHEY 2 6,100,000& 6,100
= 3,050
AltI 1,525
Tl 1,625
AHOHEH(120HE Olch) 2% X At 212,850 0 212,850
Albl 212,850
307 el2to| & 212,850 0 212,850
AltI 212,850
10 AlRIS XA EEE 22X 212,850 0 212,850
oggotet(12oHolah)2gtl 2
212,850,000 212,850
AlHI 212,850
olglols X 230,320 144,098 86,222
201 Ler23 | 17,000 17,250 A250
01 At2t2lt] 17,000 17,250 A250
ORIjolelold Xl & Sli=
14,000,000 14,000
OO0l 28 MR AuS
1,000,000& 1,000
OESAIHH 2T M S
2,000,000 2,000
203 HR=&H] 720 648 72
03 A=A R =NH] 720 648 72
O2SYUR A= 800, 00024 *90% 720
307 el2tol & 210,600 124,200 86,400
1 AMEISXAIEES 210,600 124,200 86,400
O0goly 22 A2us &
1,000,000& 1,000
Oolelold agsl X& 2,000,000& 2,000
O0leloly ¢yl X2 40,000,000 40,000
OOelold eyl X2 78,000,000 78,000
OogXit=oeol™ &Jles XA
1,200,000 1,200
OZd, Us020ld SA2es 520 &
cldl K& 2,000,000& 2,000




FA 8IS
Ha: 85 Y IIFA
=t & - =0t FEII8 &4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oolelold s213801 2eldl Xa
86,400,000& 86,400
401 AIZHIX R0 2,000 2,000
01 AlZH| 2,000 2,000
ORMI3E A= FIIE8E 89
1,000,000& *22] 2,000
OIHOIEI0E FX WRE 57,900 39,800 18,100
201 2= 57,900 39,800 18,100
01 At22telt] 57,900 39,800 18,100
Ootetoilols 22X HWREE
57,900,000 57,900
Z20IKA Helold 20101 2= XA 1,438,508 1,438,508 0
AltI 1,438,508
307 elztol & 1,438,508 1,438,508 0
Alt] 1,438,508
10 AlRISXAZEE 22X 1,438,508 1,438,508 0
OEZR0INAS0IE 22010 AHESE
A& 1,438,508,000& 1,438,508
Altl 1,438,508
IOt 201801 E70F HHEX 2 A 820 820 0
AltI 820
307 elztol & 820 820 0
AlH] 820
10 Al2ISTIAEEE2HIEX 820 820 0
O OHOIE20{8l01d R0t HHEX| 2
A& 820,000 820
Alt] 820
0201y S2tAadl X3 396,000 68,640 327,360
Albl 277,200
Tl 118,800
307 elztol & 396,000 68,640 327,360
Alt] 217,200
Tl 118,800
10 Al SXAIEEHE2EHI 22X 396,000 68,640 327,360
Ooeloly zatzs S 2dl X3
396,000,000& 396,000
AltI 277,200
Tl 118,800
Oelold =0t HMESH It X3 33,000 0 33,000
Albl 29,700
Tl 3,300
307 212+01& 33,000 0 33,000
Alt] 29,700
Tl 3,300
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